Topic A05 ICT Applications in Accounting                                                        Student Worksheet p.14

BAFS Elective Part – Accounting Module – Financial Accounting
Topic A05: ICT Applications in Accounting
Activity 1 – Role Play
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Olympics Limited is a sportswear trading company. Due to substantial increases in transactions, the current ‘manual system’ cannot meet the stakeholder requirements, especially in generating timely reports. The financial controller proposed implementing a computerised accounting system to improve efficiency and effectiveness of accounting. 
Meeting:

Director calls a meeting with the following participants:

1. Financial Controller

2. Auditor

3. Shareholder/Owner
4. Customer

5. Employee
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They are required to discuss the advantages and disadvantages of the implementation of computerised accounting information systems (AIS) from their roles’ viewpoints. (Hint: Efficiency, cost, work flow, control, skills, competence etc.)
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Financial controller illustrates how a computerised system improves efficiency. He also explains the possible limitations of using such a system.
Advantages of computerised AIS
	


Disadvantages of computerised AIS
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Auditor explains how their audit process is affected / improved by the new system.
Advantages of computerised AIS
	


Disadvantages of computerised AIS
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Shareholder/Owner explains how the new system brings improvements / drawbacks to the company.
Advantages of computerised AIS
	


Disadvantages of computerised AIS
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Customer explains if the new system has any improvement / drawback on their relationship with the company.
Advantages of computerised AIS
	


Disadvantages of computerised AIS
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Employee explains how the system improves / affects their work.
Advantages of computerised AIS
	


Disadvantages of computerised AIS
	


Activity 2 – Open Forum Discussion
Group Discussion:
· Solutions to minimise implementation impacts of computerised AIS.
Director calls a meeting to discuss solutions to minimise the implementation impacts of the computerised AIS.
The main areas of impact are:
· Company work flow

· System breakdown

· Data leakage

· Potential Unemployment

· Costs 

Students form 5 groups to discuss and propose solutions to minimise the impact.  Based on your particular role you will vote on agreeing or not with the solutions. Students can refer to p.8 for discussion. 
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	Disadvantages
	Suggested Solutions

	Work flow is controlled by the system.


	

	System breakdowns will affect company operations.

	

	Hackers may try to break into the system and steal valuable information.

	

	Employees may be fired due to a lack of necessary technology skills.

	

	Additional financial support is required to install and maintain the system.

	

	Special skills are required to operate the system.

	


Activity 3 – Role Play
Meeting : Selection of Implementation Method
After the first meeting, Olympics Limited decides to adopt a computerised accounting information system (AIS) to enhance the efficiency and effectiveness of accounting. There are three ways to acquire the system:
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1. Buy an AIS

· Quotation of $700,000 is received from Super Systems Limited, a supplier of popular accounting software. Setup is immediate.
2. Develop an AIS in-house
· The company Information Technology (IT) manager advised that the AIS could be developed in-house at $1,000,000. Setup will take approximately 3 months.

3. Outsourcing 
· All accounting data processing activities could be handled by an outside firm, Professional Limited, for a monthly fee of $50,000 for 5 years.

Director calls a meeting to select an implementation method for Olympics Limited with the following participants:

1. Manager of Super Systems Limited 
2. Manager of IT Department 

3. Manager of Professional Limited
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Quotation of $700,000 is received from Super Systems Limited, a supplier of popular accounting software. Setup is immediate.
The manager tries to convince the Director to buy the AIS by emphasising the advantages and the disadvantages of the other 2 methods. (Hint: Cost, time, control, user requirements, staff competence etc.)

Advantages of buying the AIS
	


Disadvantages of developing the AIS in-house
	


Disadvantages of outsourcing
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The Information Technology (IT) manager advises that the AIS could be developed in-house at $1,000,000 within 3 months.

The manager tries to convince the Director to develop the AIS by emphasising the advantages of developing it in-house and the disadvantages of the other 2 methods. (Hint: Cost, time, control, user requirements, staff competence etc.)

Advantages of developing the AIS in-house
	


Disadvantages of buying the AIS 
	


Disadvantages of outsourcing
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All accounting data processing activities could be handled by outsourcing to Professional Limited at $50,000/month for 5 years.

The manager tries to convince the Director to outsource by emphasising the advantages / disadvantages of outsourcing compared to the other 2 methods. (Hint: Cost, time, control, user requirements, staff competence etc.)

Advantages of outsourcing
	


Disadvantages of developing the AIS in-house
	


Disadvantages of buying the AIS 
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The Director (teacher) invites the 3 managers to present their proposals and then guides the discussion. After presenting their proposals, the managers are allowed to challenge other proposals by emphasising the disadvantages.

In conducting the meeting, the Director should fill in the mark sheet based on relevant points made by managers and their presentation skills. 

At the end of the meeting, the Director would be convinced by the manager with the highest marks and select their proposal as the implementation method.
Activity 4 – Group Discussion
After the Lesson 2 meeting, Olympics Limited has implemented a computerised accounting information system (AIS) to enhance the efficiency and effectiveness of the accounting work. 
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The AIS generated the company’s financial statements and the following ratios:

	
	Ratios
	Current Year
	Previous Year

	1
	Gross Profit Ratio
	19.8%
	22.7%

	2
	Net Profit Ratio
	12.9%
	15.6%

	3
	Current Ratio
	1.62
	1.92

	4
	Quick Ratio
	0.42
	0.72

	5
	Sales to capital employed
	1.58
	1.63


Notes:

Gross profit ratio: Gross profit / Sales

Net profit ratio: Net profit / Sales 

Current ratio: Current assets / Current liabilities

Quick ratio: (Current assets – Inventory) / Current liabilities

Sales to capital employed: Sales / Capital employed

Based on the above ratios, comment on the company’s performance:

	Profitability
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	Liquidity
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	Efficiency
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Activity 5 – Decision-making Game
To improve the profitability and liquidity of the company, managers are required to make two decisions. Two managers of Olympics Limited have different decision-making approach:

	Mr. Risky makes decisions WITHOUT the AIS reports and analysis but by experience.
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	Ms Prudent makes decisions WITH the AIS reports and analysis.
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Decision 1:

Olympics Limited will purchase a machine at $100,000 for upgrading the product quality. The purchase will be financed by a bank loan. According to the cash flow budget, the company has surplus cash $1,400 available per month for loan repayment. The following four proposals were received from banks:

	Bank A
	Offer a 7-year loan at an annual interest rate of 7%

	Bank B
	Offer an 8-year loan at an annual interest rate of 8% 

	Bank C
	Offer a 9-year loan at an annual interest rate of 9%

	Bank D
	Offer a 10-year loan at an annual interest rate of 10% 


Which one is the best proposal?

	Mr. Risky
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	Ms Prudent
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Decision 2:

Olympics Limited would like to make investments through a fund manager. Assuming that the annual interest rate for the coming 6 years is 8%, the following four investment plans were received from the fund manager.
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	Plan A
	The investment requires an initial outlay of $300,000 at the beginning of first year. The expected returns at the beginning of second year to sixth year are $95,000.


	Plan B
	The investment requires an initial outlay of $400,000 at the beginning of first year. The expected returns at the beginning of second year to sixth year are $120,000.


	Plan C
	The investment requires an initial outlay of $500,000 at the beginning of first year. The expected returns at the beginning of second year to sixth year are $150,000.


	Plan D
	The investment requires an initial outlay of $600,000 at the beginning of first year. The expected returns at the beginning of second year to sixth year are $175,000.


Which one is the best investment plan?
	Mr. Risky
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	Ms Prudent
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